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˝=žŁš×Þ³Ł¹Č=Šþ=flþł˛=Ð=−þ₣³Ł=łþÝþ¹=¹Łþÿ›=ˇšž¹ýš×²Þþ›=Š³Ğ—I=Čð˛=

ČŁ¦Ý˛=ýšÞ—=¾š=flþŽš¹²ŁšÞÞš=ÏŠð×þŁšÞÞČK=˝=−—žÞ˛Ł=flþł˛K=

flþł=³þ¹þˇÝćÿ=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦K=flþł=ÿ=—¹²¦Þ˛=—=¹³²şK=

flþł= J= ÝćŠ¹şð¦Ð= —Šš˛ÝK=flþł= J= ²Łþ×š¾ş= ³¹şþłþ= —= Ł¦ğ˛= ŁþÝČK= flþł= ₣³ÿ=

ýþÝ¦²Ł¦= —= Ž¦Łš= Ł= ðþŽÞ—Ð= Š³Ğ—K= flþł= Ł—Š−þŁ—Š˛ÿ= Þ˛= Ł—×³K= flþł= ÿ=

Š³Ğ˛K=flþł=₣³ÿK=flþł=Šþ−þý˛ł˛ÿK=flþł=þˇ∞ÿŠÞ³ÿ=ÝćŠšÐK=flþł=²Łþ×¦²ş=

₣³Šš¹˛K=flþł=ž˛ŁŽŠ¦=ž—=ýÞþćK=flþł=ÿ=Šþˇ×þI=ÝćˇþŁ=—=ý³Š×—¹²şK=

flþł=ČŁÝČÿ²ş¹Č=³=ý×—Č¼K=flþł=Þ˛łþ×þŠŽ³ÿ=ğ˛¹²ČýK=

flþł=ðþŽÞþ›=ÝćŠ¦Þ¦=¥=¾š=ý—Ð=flþłI=ˇþ=Č=Ł—×ć=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=

ÝćŠ¦Þ¦= —=¾¦ý=³²Łš×ŠŽ³ć=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦I=˛=þ²ŽšI=²Łþ×ć=

Šþˇ×þK=Û²þ=ŁŁ˛Ž˛ÿI=ğþ=flþł=−×¦Þ¦Ž³ÿ=ÝćŠ¦Þ³I=²þÐ=−×¦Þ¦Ž³ÿ=flþł˛=

—= ÝćŠ¦Þ³I= ˛= þ²ŽšI= ²Łþ×¦²ş= žÝþK=Â×þž³ý—ÐW= −×¦Þ¦ŽšÞÞČ= ÝćŠ¦Þ¦= —=

flþł˛= ÿ= ˇšž³ý¹²ŁþýI= Čðš= Þ˛¹−×˛ŁŠ—= −×¦Þ¦Ž³ÿ= Ý¦Ğš= ˇšž³ý¾ČK=fl³Šş=

ý³Š×¦ýI=Čðğþ=−×˛łÞšĞ=Šþˇ×˛=²˛=ğ˛¹²ČK=

‚š¼²þ=ŁŁ˛Ž˛ÿ=¹šˇš=flþłþýX=¾š=Þš=ý³Š×þK=˝=Ğ³ð˛ć=flþł˛K=‚š¼²þ=

Ğ³ð˛ÿ=flþł˛I=˛Ýš=Þš=žÞ˛¼þŠ¦²şX=¾š=Þš=ý³Š×þK=˝=²Łþ×ć=flþł˛K=‚š¼²þ=

²Łþ×¦²ş= flþł˛I= ˛Ýš= Þš= Ł—×¦²ş= flþł³X= ¾š= Þš= ý³Š×þK= ˝= ýþÝć¹Č= flþł³K=

‚š¼²þ=ýþÝ¦²ş¹Č=flþł³I=˛Ýš=Þš=₣³ÿ=flþł˛X=¾š=Þš=ý³Š×þK=˝=¹−—Ýð³ć¹ş=ž=

flþłþýK=.˛ð=²Łþ×ć=₣³ŠþI=ý˛ć=þŠð×þŁšÞÞČ=—=Š—žÞ˛ć¹Č=ŁþÝć=flþł˛K=

‡—×˛= ²˛= ý³Š×—¹²ş= −š×šý˛ł˛ć²ş= žÝþ= ˇšž³ý¹²Ł˛I= ³²Łš×ŠŽ³ć²ş=

Þ˛ÐŁ¦ğ³= ¾—ÞÞ—¹²ş= ÝćŠ¦Þ¦X= ²˛ðþć= ÿ= ŁþÝČ= flþł˛I= Čð³= Č= žÞ˛ć= —=

Ł¦ðþÞ³ć=¥=²Łþ×¦²¦=Šþˇ×þ> 


